
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 61

EXHAUST SYSTEM
Item 
No. Part No Description Qty. Req. Price912 UL 912 ULS 914 UL

1  1-7 978-489 EXHAUST ASSORTMENT STAINLESS STEEL (1)c $742.40
1-7 973-676 EXHAUST ASSORTMENT STAINLESS STEEL (1) (1) $970.31
1 973-674 MUFFLER ASSEMBLY STAINLESS (1) (1) $919.72
2 978-605 EXHAUST ELBOW, STAINLESS (1) (1) $86.75
3 978-520 BALL JOINT, MALE (4) $17.59
3 978-521 BALL JOINT, MALE STAINLESS (4) (4) $25.82
4 978-997 EXHAUST TUBE 800 MM STANDARD (2) (1) $35.23
4 978-998 EXHAUST TUBE 800 MM STAINLESS (2) (2) $87.51
5 978-500 EXHAUST ELBOW ASSEMBLY 1.5 MM STAINLESS (2b) (2b) CALL
6 853-355 HOOK (16) $1.92
6 853-356 HOOK STAINLESS (16) (16) $2.13
7 938-795 SPRING 66 MM (8) (8) $3.39
8 978-246 EXHAUST FLANGE 4 4 $32.61
9 978-252 EXHAUST SOCKET 4 4 $31.70

10 940-368 STUD M8x23/20 8 8 8 $6.50
11 842-950 LOCK NUT M8-WS12 8 8 8 $2.66

- Items not illustrated
a 	 certified part
b 	 360° annular ring (torus-shaped)
c 	 For 80 HP engine only! Do not use on 100 HP engine with muffler ASSEMBLY part no. 978-063.

912 | 914 ENGINE

EXHAUST SYSTEM 912 SERIES
Item 
No. Part No Description Qty. 

Req. Price

1-9 973-387 EXHAUST ASSORTMENT STAINLESS STEEL 1 $1,450.00
1 973-385 MUFFLER ASSEMBLY 1 CALL
2 973-010 EXHAUST PIPE ASSEMBLY CLY. 1 CALL
3 973-020 EXHAUST PIPE ASSEMBLY CLY. 1 CALL
4 973-030 EXHAUST PIPE ASSEMBLY CLY. 1 CALL
5 973-040 EXHAUST PIPE ASSEMBLY CLY. 1 CALL
6 973-390 EXHAUST BELOW, STAINLESS 1 $249.95
7 938-795 SPRING 66 MM 9 $3.39
8 951-550 EXHAUST PIPE CLAMP ASSEMBLY 1 CALL
9 841-113 HEX. SCREW M8X1X10 4 $18.52

10 297-555 SAFETY WIRE 0.8 AR CALL
11 940-366 STUD M8x23/20 8 $6.50
12 842-950 LOCK NUT M8-WS12 8  $2.66

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/978-489.php
https://www.cps-parts.com/catalog/pnpages/973-676.php
https://www.cps-parts.com/catalog/pnpages/973-674.php
https://www.cps-parts.com/catalog/pnpages/978-605.php
https://www.cps-parts.com/catalog/pnpages/978-520.php
https://www.cps-parts.com/catalog/pnpages/978-521.php
https://www.cps-parts.com/catalog/pnpages/978-997.php
https://www.cps-parts.com/catalog/pnpages/978-998.php
https://www.cps-parts.com/catalog/pnpages/978-500.php
https://www.cps-parts.com/catalog/pnpages/853-355.php
https://www.cps-parts.com/catalog/pnpages/853-356.php
https://www.cps-parts.com/catalog/pnpages/938-795.php
https://www.cps-parts.com/catalog/pnpages/978-246.php
https://www.cps-parts.com/catalog/pnpages/978-252.php
https://www.cps-parts.com/catalog/pnpages/940-368.php
https://www.cps-parts.com/catalog/pnpages/842-950.php
https://www.cps-parts.com/catalog/pnpages/978-063.php
https://www.cps-parts.com/catalog/pnpages/973-387.php
https://www.cps-parts.com/catalog/pnpages/973-385.php
https://www.cps-parts.com/catalog/pnpages/973-010.php
https://www.cps-parts.com/catalog/pnpages/973-020.php
https://www.cps-parts.com/catalog/pnpages/973-030.php
https://www.cps-parts.com/catalog/pnpages/973-040.php
https://www.cps-parts.com/catalog/pnpages/973-390.php
https://www.cps-parts.com/catalog/pnpages/938-795.php
https://www.cps-parts.com/catalog/pnpages/951-550.php
https://www.cps-parts.com/catalog/pnpages/841-113.php
https://www.cps-parts.com/catalog/pnpages/297-555.php
https://www.cps-parts.com/catalog/pnpages/940-366.php
https://www.cps-parts.com/catalog/pnpages/842-950.php

